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TNPSC Group 2 Model Question Paper 1 

General Studies 

1. A and B travel the same distance at the speeds of 10 kmph and 15 kmph respectively. If A takes 30 minutes 

longer than B then distance travelled is 

 (A) 15 km  (B) 20 km  (C) 90 km  (D) 30 km 

 Ans -  (A) 15 km 

A, B vd;Dk; ,Uth;> xNu J}uj;ij KiwNa 10 fp.kP. /kzp> 15 fp.kP./kzp Ntfj;jpy; fle;J 
nry;fpwhh;fs;. B- I tpl 30 epkplq;fs; mjpfk; A vLj;Jf; nfhs;fpwhh; vdpy; mth;fs; fle;J nrd;w 
J}uk; vd;d? 

 (A) 15 fp.kP (B) 20 fp.kP (C) 90 fp.kP  (D)30 fp.kP 

 Ans -  (A) 15 fp.kP 

2. Remainder when the polynominal 5x
 3
 + 2x

 2
 – 6x + 12 divided by (x+2) is 

 (A) 5x
 2
 -8x + 10  (B) x + 8 (C) -8  (D) -72 

 Ans - (C) -8  

5x
 3
 + 2x

2
 – 6x + 12 -I (x+2) – My; tFf;ff; fpilf;Fk; kPjp vJ? 

 (A) 5x
2
 -8x + 10  (B) x + 8 (C) -8  (D) -72 

 Ans - (C) -8  

3.  In a rectangle if the length is increased and breadth is reduced by 3 cm then area is reduced by 18.cm
2
. If 

the length is reduced by 1 cm and breadth is increased by 2 cm then the area is increased by 14 cm
2
. Actual 

length and breadth of the rectangle are respectively. 

 (A) 13 cm; 10 cm  (B) 14 cm; 9 cm 

 (B) 12 cm ; 12 cm  (D) 15 cm; 8 cm 

 Ans - (A) 13 cm; 10 cm 

xU nrt;tfj;jpd; ePsk; 3 nr.kP msT mjpfhpf;fg;l;L mfyk; 3 nr.kP msT Fiwf;fg;gl;lhy; 
gug;gsthdJ 18 nr.kP.2 msT Fiwe;J tpLk;. ePsj;jpy; 1 nr.kP msT Fiwf;fgl;L mfyj;jpy; 2 
nr.kP msT mjpfhpf;fg;l;lhy; gug;gsthdJ 14 nr.kP2 msT mjpfhpj;J tpLk;. vdpy; 
mr;nrt;tfj;jpd; ePsk; kw;Wk; mfyk; KiwNa 

 (A) 13 cm; 10 cm  (B) 14 cm; 9 cm 

 (B) 12 cm ; 12 cm  (D) 15 cm; 8 cm 

 Ans - (A) 13 cm; 10 cm 

4. Edge of a cube is increased by 50% then find percentage increase in total surface area of the cube. 

 (A) 108%  (B) 125%  (C) 90%  (D) 80 % 

 Ans - (B) 125%  
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xU fd rJuj;jpd; gf;fk; 50% cah;j;jg;gl;lhy; mjd; nkhj;jg; Gwg;gug;gpy; Vw;gl;l mjpfhpg;gpd; 
rjtpfpjk; vd;d? 

 (A) 108%  (B) 125%  (C) 90%  (D) 80 % 

 Ans - (B) 125%  

5. 1292 – 292 = ? 

 (A) 12000  (B) 15000  (C) 15800  (D) 10000 

 Ans - (C) 15800 

1292 – 292 = ? 

 (A) 12000  (B) 15000  (C) 15800  (D) 10000 

 Ans - (C) 15800 

6. Sum of a number and its reciprocal is 4 then value of sum of cube of the number and reciprocal of the cube 

is  

 (A) 64  (B) 52  (C) 48  (D) 24 

 Ans - (B) 52  

Xh; vz; kw;Dk; mjd; jiyfPopapd; $l;Lj;njhif 4 vdpy;> mt;ntz;zpd; Kk;kb kw;Wk; 
Kk;kbapd; jiyfPop Mfpatw;wpd; $l;Lj;njhif vt;tsT? 

 (A) 64  (B) 52  (C) 48  (D) 24 

 Ans - (B) 52  

7. An angle and its supplementary angle are in the ratio 4 : 5 then that angle is  

 (A) 80
 .
   (B)100

.
  (C) 40 

.
  (D) 50 

.
 

 Ans - (A) 80
 .
 

xU NfhzKk; mjd; kpif epug;Gf; NfhzKk; 4 : 5 vd;w tpfpjj;jpy; ,Ug;gpd; mf;Nfhzk; vJ? 

 (A) 80
 .
   (B)100

.
  (C) 40 

.
  (D) 50 

.
 

 Ans - (A) 80
 .
 

8. HCF of x
2
 – 2xy + y

2
 and x

4
 – y

4
 is 

 (A) 1  (B) x + y   (C) x-y  (D) x
2
 – y

2
  

 Ans - (C) x-y 

x
2
 – 2xy + y

2
 kw;Wk; x

4
 – y

4
 Mfpatw;wpd; kPg;ngU nghJ tFj;jp (kP.ngh.t) vJ? 

 (A) 1  (B) x + y   (C) x-y  (D) x
2
 – y

2
  

 Ans - (C) x-y 

9. TAMIL is coded as RCKKJ then MATHS is coded as 

 (A) KCRJQ  (B) KCRRU  (C) RCKKU  (D) RCKJQ 



General Studies            Prepared By winmeen.com 
Tnpsc Group 2 Previous Questions : https://goo.gl/PYqsd7   

 

Install Winmeen Mobile App : https://goo.gl/s3YY9V                                                         Page 3 of 27 

 

 Ans - (A) KCRJQ 

TAMIL vd;Dk; nrhy; RCKKJ vdf; FwpaPl;lhf;fk; nra;ag;gl;lhy; MATHS vDk; nrhy;Yf;Fhpa 
FwpaPl;lhf;fk; vJ?  

 (A) KCRJQ  (B) KCRRU  (C) RCKKU  (D) RCKJQ 

 Ans - (A) KCRJQ 

10. Among five liquids A, B, C, D, E the boiling point of A is less than that of E but more than that of B where 

B has a higher boiling point than C. The boiling point of D is higher than that of E. Which liquid has the 

least boiling point? 

 (A) A  (B) B  (C) C  (D) D 

 Ans - (C) C  

A, B, C, D, E vd;w Ie;J ePh;kq;fSs; A-apd; nfhjp ntg;gepiyahdJ E-apd; nfhjp ntg;gepiyia 
tplf; FiwthfTk; B-apd; nfhjp ntg;gepiyiaf; fhl;bYk; mjpfkhfTk;> B-apdJ C-apd; nfhjp 
ntg;gepiyiaf; fhl;bYk; mjpfkhfTk; ,Uf;fpwJ. D-apd; nfhjp ntg;gepiyahdJ E-apdijf; 
fhl;bYk; mjpfk; vdpy; ve;j ePh;kj;jpd; nfhjp ntg;gepiy kpff; Fiwthf ,Uf;Fk;? 

 (A) A  (B) B  (C) C  (D) D 

 Ans - (C) C  

11. n
th

 term of a series is given by an = (-1)
n
 (1-n+2

n
) Then 5

th
 term of the series is  

  (A) -21  (B) -6  (C) -28  (D) 6 

 Ans - (C) -28  

xU njhlhpd; n-Mk; cWg;G fhZk; tha;ghL an = (-1)
n
 (1-n+2

n
) vdf; nfhLf;fg;gl;Ls;sJ 

vdpy; mj;njhlhpd; 5-k; cWg;G vJ? 

 (A) -21  (B) -6  (C) -28  (D) 6 

 Ans - (C) -28  

12. If k + 1, 3k and 4k + 2 are any 3 consecutive terms of an Arithmetic Progression then value of k is 

 (A) 0  (B) 1  (C) 2  (D) 3 

 Ans - (D) 3 

 K + 1, 3k kw;Wk; 4k + 2 Mfpad xU $l;Lj; njhlhpy; mikfpd;wd vdpy; k-d; kjpg;G 

 (A) 0  (B) 1  (C) 2  (D) 3 

 Ans - (D) 3 

13. Find the missing number : 

 1, 3, 6, 10, ?, 21, 28 …. 

(A) 16  (B) 15   (C) 20  (D) 17 

Ans - (B) 15   
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tpLgl;l vz;izf; fhz; : 

 1, 3, 6, 10, ?, 21, 28 …. 

(A) 16  (B) 15   (C) 20  (D) 17 

Ans - (B) 15   

14. A monochromatic light of wavelength 589 nm is incident on a water surface having refractive index 1.33.  

Find the velocity of light in water. 

 (A) 3 x 10
 8
 ms

 -1
  (B) 332 ms

-1
  (C) 280 ms

-1
  (D) 2.25 x 10

8
 ms

-1 

 Ans - (D) 2.25 x 10
8
 ms

-1
 

Xsptpyfy; vz; 1.33 cila ePhpd; kPJ 589 nm miy ePsKila xw;iw epw xsp gLfpwJ. 
ePhpDs; xspapd; jpirNtfj;ij fzf;fpL. 

 
(A) 3 x 10

 8
 ms

 -1
  (B) 332 ms

-1
  (C) 280 ms

-1
  (D) 2.25 x 10

8
 ms

-1 

 Ans - (D) 2.25 x 10
8
 ms

-1
 

15. The colour light emitted by LED depends on  

 (A) its reverse bias   (B) its forward bias 

 (C) the amount of forward current (D) type of semiconductor material 

 Ans - (D) type of semiconductor material 

 Xsp ckpo; ilNahby; ckpog;gLk; xspapd; epwk; ------------------ rhh;e;jJ. 

 (A) mjd; gpd;Ndhf;F rhh;G   (B) mjd; Kd;Ndhf;F rhh;G 

 (C) Kd;Ndhf;F kpd;Ndhl;l msT  (D) Fiwflj;jp nghUspd; tif 

 Ans - (D) Fiwflj;jp nghUspd; tif 

16. Which is called “Aqua tortis?” 

 (A) H2SO4  (B) HNO3  (C) HCI  (D) H3PO4 

 Ans - (B) HNO3 

 “mFth lhh;b];” vd;wiof;fg;gLtJ vJ? 

 (A) H2SO4  (B) HNO3  (C) HCI  (D) H3PO4 

 Ans - (B) HNO3 

17. Insectivorous plants not able to synthesize enough protein due to the definciency of  

 (A) Hydrogen  (B) Carbon  (C) Nitrogen   (D) Oxygen 

 Ans - (C) Nitrogen 

 G+r;rp cz;Zk; jhtuq;fs; ------------ gw;whf;Fiwtpdhy; Gujj;ij jahhpf;f Kbtjpy;iy. 

(A) i`l;u[d;  (B) fhh;gd;  (C) iel;u[d;   (D) Mf;rp[d; 
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 Ans - (C) iel;u[d; 

18. The total amount of energy release from one molecule of glucose on oxidation is about  

 (A) 2600 kJ  (B) 2300 kJ  (C) 2900 kJ  (D) 2500 kJ 

 Ans - (C) 2900 kJ 

Xu %yf;$W FSf;Nfh]; KOikahd Mf;rp[Ndw;wj;jpd; NghJ ntspg;gLj;Jk; Mw;wypd; msT 

 (A) 2600 kJ  (B) 2300 kJ  (C) 2900 kJ  (D) 2500 kJ 

 Ans - (C) 2900 kJ 

19. Which is known as “Sundew Plant?” 

 (A) Cuscuta  (B) Drosera  (C) Vanda  (D) Viscum 

  Ans - (B) Drosera  

#hpa gdpj;Jspj; jhtuk; vd;W miof;fg;gLtJ 

 (A) f];Fl;lh  (B) l;u]Puh  (C) thz;lh  (D) tp];fk; 

 Ans - (B) l;u]Puh 

20. Which player of India played most Test matches as captain? 

 (A) M.S.Dhoni     (B) S.Ganguly   

(C) Mohammed Azharuddin   (C) S.Gavaskar  

 Ans - (A) M.S.Dhoni  

mjpfkhd nl];l; Nghl;bfspy; Nfg;ldhf tpisahba ,e;jpa tPuh; ahh;? 

(A) vk;.v];. Njhdp    (B) v];. fq;Fyp  

(C) KfkJ mrhUjPd;    (D) v];.fth];fh; 

 Ans - (A) vk;.v];. Njhdp 

21. Which is the first team to play 900 One day International Cricket matches? 

 (A) Australia  (B) Srilanka  (C) India  (D) Pakistan 

 Ans - (C) India  

900 xU ehs; rh;tNjr fphpf;nfl; Nghl;bfspy; tpisahba mzp vJ? 

(A) M];jpNuypah  (B) ,yq;if  (C) ,e;jpah (D) ghfp];jhd; 

 Ans - (C) ,e;jpah 

22. The Indian rupee symbol ---- was adopted by Indian Government in the year -------------- 

 (A) 2006  (B) 2010 (C) 2011  (D) 2007 

 Ans - (B) 2010 

 ,e;jpa &ghapd; FwpaPlhf -I ,e;jpa muR Vw;Wf;nfhz;l tUlk; ------------ 
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 (A) 2006  (B) 2010 (C) 2011  (D) 2007 

 Ans - (B) 2010 

23.  Which Act legally recognized the principle of election to the legislative councils? 

 (A) Act of 1861  (B) Act if 1892   

(C) Act of 1909  (D) Act of 1919 

 Ans - (C) Act of 1909  

rl;lkd;wq;fSf;fhd Njh;jiy rl;lG+h;tkhf Vw;Wf; nfhz;l rl;lk; 

(A) 1861k; Mz;L rl;lk;  (B) 1892k; Mz;L rl;lk; 

(C) 1909k; Mz;L rl;lk;  (D) 1919k; Mz;L rl;lk; 

 Ans - (C) 1909k; Mz;L rl;lk; 

24.  NITI Aayog came into existence on 

(A)  1
st
 January – 1950  (B) 1

st
 January – 2015 

(C) 1
st
 January - 1947  (D) 1

st
 January – 1948 

Ans - (B) 1
st
 January – 2015 

NITI MNahf; mKYf;F nfhz;L tug;gl;l Mz;L 

(A) [dthp-1> 1950  (B) [dthp-1> 2015 

(B) [dthp-1> 1947  (D) [dthp-1> 1948 

Ans - (B) [dthp-1> 2015 

25. According to Socio-Economic and Caste Census (SECC), 2015, which state has the highest literacy rate? 

 (A) Sikkim  (B) Tamil Nadu  (C) Kerala  (D) Haryana 

 Ans - (C) Kerala 

2015y; ele;j r%f nghUshjhu rhjp thhpahd fzf;nfLg;gpd; (SECC) gb fPo;f;fz;l 
khepyq;fspy; ve;j khepyj;jpy; mjpf gbg;gwpT rjtPjk; cs;sJ? 

 (A) rpf;fpk;  (B) jkpo;ehL  (C) Nfush  (D) `hpahdh 

 Ans - (C) Nfush 

26.  Match List I with List II and choose the correct answer from the codes given below : 

   (FIFA world Cup Football) 

  List I    List II 

 (a) Russia    1. 2006 

 (b) Brazil    2. 2010 

 (c) South Africa    3. 2014 
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 (d) Germany    4. 2018 

  (a) (b) (c) (d) 

 (A) 4 3 2 1 

 (B) 4 3 1 2 

 (C) 3 4 2 1 

 (D)  4 2 3 1 

 Ans - (A) 4 3 2 1 

 gl;bay; I  ypUe;J gl;bay; II nghUj;Jf. rhpahd tpilia FwpaPLfspypUe;J Njh;e;njL : 

   (gpgh cyfg;Nfhg;ig fhy;ge;J) 

  gl;bay; I   gl;bay; II 

 (a) u\;ah    1. 2006 

 (b) gpNurpy;    2. 2010 

 (c) njd; Mg;hpf;fh   3. 2014 

 (d) n[h;kdp    4. 2018 

  (a) (b) (c) (d) 

 (A) 4 3 2 1 

 (B) 4 3 1 2 

 (C) 3 4 2 1 

 (D)  4 2 3 1 

 Ans - (A) 4 3 2 1 

27. The Union Government launched the new digital payment system, Bharat QR code in February 2017. QR 

code stands for 

 (A) Qwerty Response Code  (B) Quick Response Code 

 (C) Queue Response Code  (D) Quasi Response Code 

 Ans - (B) Quick Response Code 

 gpg;uthp 2017-,y; kj;jpa muR ghuj;-QR FwpaPL vd;w Gjpa vz;zpyf;f gzk; nrYj;J Kiwapid 
njhlf;fpAs;sJ. QR FwpaPL vd;gJ ,ijf; Fwpf;Fk;. 

 (A) Qwerty Response Code  (B) Quick Response Code 

 (C) Queue Response Code  (D) Quasi Response Code 

 Ans - (B) Quick Response Code 

28. The integrated grievances redressal platform for petroleum and gas related queries across social media 

launched by the union ministry in March 2017 is 
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 (A) Gem SPV  (B) URJA MITRA (C) MOPNG e Seva (D) Petro e Seva 

 Ans - (C) MOPNG e Seva 

 khh;r; 2017-,y;> kj;jpa mikr;rfj;jhy; r%f Clfq;fspy; Jtf;fp itf;fg;gl;l> ngl;Nuhy; kw;Wk; 
thAj; njhlh;ghd re;Njfq;fSf;F vd;W xUq;fpize;j Fiw jPh;T ,aq;Fjsk; 

 (A) Gem SPV  (B) URJA MITRA (C) MOPNG e Seva (D) Petro E Seva 

 Ans - (C) MOPNG e Seva 

29.  The new 4 elements added to the periodic table since 2011. They are  

 (A) 113, 114, 115 and 116   (B) 115, 116, 117 and 118 

 (C) 113, 115, 117 and 118   (D) 114, 116, 117 and 118 

 Ans - (C) 113, 115, 117 and 118 

 fPo;fz;ltw;wpy; ve;j Gjpa ehd;F cWg;Gf;fs; jdpk ml;ltizapy 2011-y; ,izf;fgl;lJ? 

 (A) 113, 114, 115 kw;Wk; 116   (B) 115, 116, 117 kw;Wk; 118 

 (C) 113, 115, 117 kw;Wk;  118   (D) 114, 116, 117 kw;Wk; 118 

 Ans - (C) 113, 115, 117 kw;Wk;  118  

30. Which of the following day has the theme ‘Cultural Heritage and Sustainable Tourism’ in the year 2017? 

 (A) World Environment Day   (B) World Earth Day 

 (C) World Heritage Day    (D) World Meterological Day 

 Ans - (C) World Heritage Day  

 ‘fyhr;rhug; ghuk;ghpak; kw;Wk; epiyepWj;jj;jf;f Rw;Wyhthz;ik’ vd;gJ 2017-Mk; Mz;bw;fhd 
,e;j jpdj;jpd; fUg;nghUshFk;. 

 (A) cyf Rw;Wr;#oy; jpdk;   (B) cyf G+kp jpdk; 

 (C) cyf ghuk;ghpa jpdk;   (D) cyf thdpayha;T jpdk; 

 Ans - (C) cyf ghuk;ghpa jpdk;  

31. Pick out the correct statement 

 (A) The global average surface temperature has increased over 20
th
 century by about 0.6 C 

 (B) The global average surface temperature has increased over 20
th
 century by about 0.7 C 

 (C) The global average surface temperature has increased over 20
th
 century by about 0.8 C 

 (D) The global average surface temperature has increased over 20
th
 century by about 1 C 

 Ans - (A) The global average surface temperature has increased over 20
th
 century by about 0.6 C 

 rhpahd $w;iw Rl;b fhl;lTk; 

 (A) Gtpapd; ruhrhp ntg;gj;ij tpl 20-Mk; E}w;whz;by; 0.6 C cah;e;Js;sJ  
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(B) Gtpapd; ruhrhp ntg;gj;ij tpl 20-Mk; E}w;whz;by; 0.7 C cah;e;Js;sJ 

 (C) Gtpapd; ruhrhp ntg;gj;ij tpl 20-Mk; E}w;whz;by; 0.8 C cah;e;Js;sJ 

 (D) Gtpapd; ruhrhp ntg;gj;ij tpl 20-Mk; E}w;whz;by; 1 C cah;e;Js;sJ 

 Ans - (A) Gtpapd; ruhrhp ntg;gj;ij tpl 20-Mk; E}w;whz;by; 0.6 C cah;e;Js;sJ  

32. Johannesburg 2002 United Nations Conference was on 

 (A) Software Development   (B) Transport Development 

 (C) Sustainable development   (D) Community development 

 Ans - (C) Sustainable development  

 If;fpa ehLfspd; khehL 2002-,y; N[hfNd];gh;f;fpy; ele;jJ. ,jd; Nehf;fk; 

 (A) nkd;nghUs; Nkk;ghL  (B) Nghf;Ftuj;J Nkk;ghL 

 (C) Ngzj;jFe;j Nkk;ghL  (D) r%f Nkk;ghL 

 Ans - (C) Ngzj;jFe;j Nkk;ghL 

33. Match List I with List II : 

  List I   List II 

  Place    River 

(a) London   1. Seine 

(b) Paris   2. Thames 

(c) Soviet Union  3. Cauvery 

(d) Tamil Nadu   4. Volga 

  (a) (b) (c) (d) 

 (A)  1 3 4 2 

 (B) 2 1 4 3 

 (C) 4 3 2 1 

 (D) 2 3 1 4 

 Ans - (B) 2 1 4 3 

  gl;bay; I   gl;bay;  II 

  ,lk;    ejp 

 (a) yz;ld;    1. rPd; 

 (b) ghhp];    2. Njk;]; 

 (c) Nrhtpaj; A+dpad;  3. fhtphp 

 (d) jkpo;ehL   4. Nthy;fh 

  (a) (b) (c) (d) 
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 (A)  1 3 4 2 

 (B) 2 1 4 3 

 (C) 4 3 2 1 

 (D) 2 3 1 4 

 Ans - (B) 2 1 4 3 

34.  Where we can see the ‘Sigiriya Paintings’ which is highly influenced by the Ajantha style? 

 (A) Burma  (B) Sumatra  (C) China  (D) Sri Lanka 

 Ans - (D) Sri Lanka 

 m[e;jh Xtpaq;fspd; jhf;fj;ijg; ngw;Ws;s “rpfphpah” xtpaq;fs; cs;s ,lk; 

 (A) gh;kh  (B) Rkj;uh  (C) rPdh  (D) ,yq;if 

 Ans - (D) ,yq;if 

35. List out the five dynasties of Delhi sultanates in order 

 (A) Slave, Khilji, Tughlaq, Sayyids, Lodis (B) Khilji, Slave, Tughlaq, Lodis, Sayyids 

 (C) Lodis, Sayyids, Tughlaq, Khilji, Slave (D) Slave, Lodis, Sayyids, Khilji, Tughlaq 

 Ans - (A) Slave, Khilji, Tughlaq, Sayyids, Lodis 

 nly;yp Ry;jhdpaj;ij Ml;rp nra;j Ie;J tk;rq;fis thpirg;gLj;Jf. 

 (A) mbik> fpy;[p> Jf;sf;> iraJ> Nyhb 

 (B) fpy;[p> mbik> Jf;sf;> Nyhb> iraJ 

 (C) Nyhb> iraJ> Jf;sf;> fpy;[p> mbik 

 (D) mbik> Nyhb> iraJ> fpy;[p> Jf;sf; 

 Ans - (A) mbik> fpy;[p> Jf;sf;> iraJ> Nyhb 

36. The founder of the Bahmani kingdom was 

 (A) Muhammad Shah    (B) Firoz Shah 

 (C) Mahmud Gawan    (D) Alauddin Bahman Shah 

 Ans - (D) Alauddin Bahman Shah 

 ghkpdp muir epWtpath; 

 (A) KfkJ \h  (B) gpNuh]; \h 

 (C) KfkJ fhtd;  (D) myhTjPd; ghkd;\h 

 Ans - (D) myhTjPd; ghkd;\h 

37. “Doab” means 

 (A) The region between two cities  (B) The region between two rivers 
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 (C) The region between two mountains  (D) None of these 

 Ans - (B) The region between two rivers 

 “Njh Mg;” vdg;gLtJ 

 (A) ,U efuq;fSf;F ,ilg;gl;l gFjp  (B) ,U ejpfSf;F ,ilg;gl;l gFjp 

 (C) ,U kiyfSf;F ,ilg;gl;l epyg;gFjp  (D) ,tw;Ws; vJTkpy;iy. 

 Ans - (B) ,U ejpfSf;F ,ilg;gl;l gFjp 

38. The First Secretary General of SAARC 

 (A) Jinnah  (B) Abul Ahsan  (C) Kofi Annan  (D) Gandhiji 

 Ans - (B) Abul Ahsan 

 rhh;f; mikg;gpd; Kjy; nghJr; nrayhsh; 

 (A) [pd;dh     (B) mGy; M\hd;  

(C) Nfhgp Mdd;    (D) fhe;jp[p 

 Ans - (B) mGy; M\hd;  

39. Pt. Jawaharlal Nehru’s Five principles of peace are named as 

 (A) Swadeshi  (B) Apartheid  (C) New Deal  (D) Pancha Sheel 

 Ans - (D) Pancha Sheel 

 gz;bj [t`h;yhy; NeUtpd; mikjpf;fhd Ie;J mk;r nfhs;if 

(A) RNjrp  (B) ,d xJf;fy; (C) Gjpa gaDhpik (D) gQ;r rPyk; 

Ans - (D) gQ;r rPyk; 

40. Recognized official language of India 

 (A) 25  (B) 22  (C) 23  (D) 27 

 Ans - (B) 22 

 ,e;jpahtpy; mq;fPfhpf;fg;gl;l nkhopfs; 

 (A) 25  (B) 22  (C) 23  (D) 27 

 Ans - (B) 22 

41. The Supreme Court consists of how many judges? 

 (A) 26  (B) 22  (C) 25  (D) 21 

 Ans - (A) 26  

 cr;rePjpkd;wj;jpy; jiyik ePjpgjp cl;gl vj;jid ePjpgjpfs; cs;sdh;? 

 (A) 26  (B) 22  (C) 25  (D) 21 

 Ans - (A) 26  
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42. The Parliament of India consist of 

 (A) One house  (B) Two houses  (C) Three houses (D) Four houses 

 Ans - (B) Two houses  

 ,e;jpa ghuhSkd;wk; ----------- mitia nfhz;ljhFk;. 

 (A) xU mit    (B) ,uz;L mitfs;  

(C) %d;W mitfs;   (D) ehd;F mitfs; 

 Ans - (B) ,uz;L mitfs;  

43. An entrepreneur is like 

 (A) a crow  (B) a duck  (C) a peacock  (D) an eagle 

 Ans - (D) an eagle 

 xU njhopy;KidNthh; vd;gth; ahiu Nghy cs;shh;? 

 (A) xU fhfk;  (B) xU thj;J  (C) xU kapy;  (D) xU fOF  

 Ans - (D) xU fOF  

44.  How many people does each ration shop serve? 

 (A) 2000  (B) 2500  (C) 3000  (D) 3500 

 Ans - (A) 2000 

 Xt;nthU epaha tpiyf; filAk; vt;tsT kf;fSf;F cjTfpwJ? 

 (A) 2000  (B) 2500  (C) 3000  (D) 3500 

 Ans - (A) 2000 

45. Which Government started the Land reform legislation? 

 (A) Panchayat    (B) Local Government   

(C) State Governemnt   (D) Central Government 

 Ans - (C) State Governemnt 

 epyr;rPh;jpUj;j rl;lj;ij njhlq;fpa muR vJ? 

(A) gQ;rhaj;J  (B) cs;Sh; muR (C) khepy muR (D) kj;jpa mu 

Ans - (C) khepy muR 

46. What was the fund limit of a small scale industry in the tenth five year plan? 

 (A) 75 laksh  (B) 100 laksh  (C) 50 crores  (D) 75 crores 

 Ans - (C) 50 crores 

 gj;jhk; Ie;jhz;L jpl;lj;jpy; rpW njhopy; epWtdq;fspd; epjp msT vd;d? 

(A) 75 yl;rk;  (B) 100 yl;rk;   (C) 50 Nfhb  (D) 75 Nfhb 
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Ans - (C) 50 Nfhb 

47. The 1857 Revolt was sparked off due to the reason 

 (A) New form of turban    (B) Greased Cartridges 

 (B) Doctrine of Lapse    (D) Abolished the Bata 

 Ans - (B) Greased Cartridges 

 1857-Mk; Mz;L fyfj;Jf;F cldbf; fhuzk; 

(A) Gjpa tif jiyg;ghif  (B) nfhOg;G jltpa Njhl;lhf;fs; 

(C) thhpR ,og;Gf; nfhs;if  (D) ,ul;ilg;gb uj;J nra;jy; 

 Ans - (B) nfhOg;G jltpa Njhl;lhf;fs; 

48. Who repealed the Vernacular Press Act and earned much popularity among India? 

 (A) Lord Curzon (B) Lord Ripon  (C) Lord Lytton  (D) Lord Maya 

 Ans - (B) Lord Ripon 

 ehl;L nkhop nra;jpj;jhs; rl;lj;ij uj;J nra;J ,e;jpa kf;fspilNa ngUk; Gfo; ngw;wth; 

(A) fh;rd; gpuG  (B) hpg;gd; gpuG  (C) ypl;ld; gpuG (D) NkNah gpuG 

Ans - (B) hpg;gd; gpuG  

49. If 1/8  of a pencil is black, ½ of the remaining is white and the remaining 3 ½ cm is blue find the total 

length of the pencil 

 (A) 9 cms  (B) 7 cms  (C) 8 cms  (D) 10 cms 

 Ans - (C) 8 cms  

 xU ngd;rpypd; 8-,y; 1 ghfk; fUg;G epwkhfTk;> kPjpg; gFjpapy; ghjp nts;is epwkhfTk;> 
 kPjKs;s gFjp 3 ½  nr.kP. ePy epwkhfTk; ,Ue;jhy;> ngd;rpypd; nkhj;j ePsk; vd;d? 

 (A) 9 nr.kP. (B) 7 nr.kP.  (C) 8 nr.kP.  (D) 10 nr.kP. 

 Ans - (C) 8 nr.kP. 

50. A tin of oil was 4/5 full. When 6 bottles of oil were taken out and four bottles of oil were poured into it, it 

was ¾ full. How many bottles of oil can the tin contain? 

 (A) 35  (B) 40  (C) 42  (D) 60 

 Ans - (B) 40  

 xU vz;nza; bd; 4/5 ghfk; epiwe;jpUe;jJ. mjpypUe;J 6 Gl;bfs; vz;nzia vLj;Jtpl;L, 4 
Gl;bfs; vz;nzia Cw;Wk; nghOJ mJ ¾ ghfk; epiwe;jpUe;jJ vdpy;> me;j bd;Dila KO 
nfhs;sstpw;F vj;jid Gl;bfs; vz;nza; NjitahfpwJ? 

 (A) 35  (B) 40  (C) 42  (D) 60 

 Ans - (B) 40 
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51. When an amount was distributed among 14 boys, each of them got 80 more than the amount received by 

each boy when the same amount is distributed equally among 18 boys. What was the amount? 

 (A) ₹ 5,010  (B) ₹ 5,020  (C) ₹ 5,040  (D) ₹ 5,000 

 Ans - (C) ₹ 5,040 

 xU Fwpg;gpl;l njhifia 14 igad;fspilNa gq;fpLk; nghOJ> mNj njhifia 18 Nghplk; 
rkkhfg; gq;fpLk; nghOJ fpilg;gij tpl xt;nthUtUk; ₹ 80 mjpfk; ngWfpwhh;fs;. Njhif 
vd;d? 

 (A) ₹ 5,010  (B) ₹ 5,020  (C) ₹ 5,040  (D) ₹ 5,000\ 

 Ans - (C) ₹ 5,040 

52. Cost of 3 pencils and 5 erasers is ₹ 34 and cost of 2 pencils and 7 erasers is ₹ 30 then cost of a pencil is 

 (A) ₹ 8  (B) ₹ 5  (C) ₹ 4  (D) ₹ 2 

 Ans - (A) ₹ 8  

 3 vOJNfhy;fSk; 5 mopg;ghd;fSk; Nrh;e;J tpiy ₹ 34 NkYk; 2 vOJNfhy;fSk; 7 
mog;ghd;fSk; Nrh;e;J tpiy ₹ 30 vdpy; xU vOJNfhypd; tpiy vd;d? 

 (A) ₹ 8  (B) ₹ 5  (C) ₹ 4  (D) ₹ 2 

 Ans - (A) ₹ 8  

53. Any point of X-axis has its 

 (A) abscissa zero    (B) Ordinate Zero 

 (C) abscissa and ordinate are zeros  (D) neither abscissa nor ordinate as zero 

 Ans - (B) Ordinate Zero 

 x- mr;rpd; kPjike;j ve;jnthU Gs;spf;Fk; mjd; 

 (A) fpilkl;l Maf;$W G+[;ak; 

 (B) Fj;jhaf; $W G+[;ak;  

 (C) fpilkl;l kw;Wk; Fj;jhaf; $Wfs; G+[;ak; 

 (D) fpilkl;l kw;Wk; Fj;jhaf; $Wfs; G+[;ak; my;y 

 Ans - (B) Fj;jhaf; $W G+[;ak;  

54. The sides (in c.m.) of a right angled triangle are x-1, x, x+1. Then area of the right angled triangle is 

 (A) 12 sq. cm.  (B) 6 sq. cm.  (C) 20 sq. cm.  (D) 22 sq. cm. 

 Ans - (B) 6 sq. cm. 

 xU nrq;Nfhz Kf;Nfhzj;jpd; gf;fq;fs; (nr.kP) x-1, x, x+1. vdpy; mr;nrq;Nfhz Kf;Nfhzj;jpd; 
gug;gsT 

 (A) 12  r. nr.kP. (B) 6 r. nr.kP.  (C) 20 r. nr.kP.  (D) 22 r. nr.kP. 
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 Ans - (B) 6 r. nr.kP. 

55. A cuboid box has the square base of side a cm and height b cm then volume of the box is  

 (A) a
2
 b

2
 cm

3
  (B) ab

2
 cm

3
  (C) a

2
 b cm

3
  (D) a

2
b

2
 /3 cm

3
 

 Ans - (C) a
2
 b cm

3
 

 fd nrt;tfg; ngl;b xd;wpd; mbg;gf;fk; rJukhfTk; mr;rJuj;jpd; gf;fk; a nr.kP MfTk; 
ngl;bapd; cauk; b nr.kP. MfTk; ,Ug;gpd; mjd; fd msT 

 (A) a
2
 b

2
 nr.kP3  (B) ab

2
 nr.kP 3  (C) a

2
 b nr.kP 3  (D) a

2
b

2
 /3 nr.kP 3 

 Ans - (C) a
2
 b nr.kP 3  

56. Price of a suitcase is increased from ₹ 2,000 to ₹ 2,500. What is the percentage of increase? 

 (A) 20%  (B) 22%  (C) 30%  (D) 25 % 

 Ans - (D) 25 % 

 ngl;bnahd;wpd; tpiy ₹ 2>000-y; ,Ue;J   ₹ 2>500-Mf mjpfhpf;fg;gl;lhy;@ mjpfhpg;gpd; rjtPjk; 
ahJ? 

 (A) 20%  (B) 22%  (C) 30%  (D) 25 % 

 Ans - (D) 25 % 

57. The difference between simple interest and compound interest on ₹ 2,400 at 2 years at 5% per annum 

compounded annually 

 (A) ₹ 5  (B) ₹ 6  (C) ₹ 7  (D) ₹ 8  

 Ans - (B) ₹ 6  

 ₹ 2>400 -f;F 5% Mz;L tl;b tPjk; 2 Mz;Lfspy; fpilf;Fk; jdp tl;bf;Fk;> $l;L tl;bf;Fk; 
cs;s tpj;jpahrk; 

 (A) ₹ 5  (B) ₹ 6  (C) ₹ 7  (D) ₹ 8  

 Ans - (B) ₹ 6  

58. Three men A, B and C can complete a work in 10, 15, 30 days respectively. A and B work together for 3 

days then A leaves and C joins. In how many days can B and C finish the remaining work? 

 (A) 5 Days  (B) 6 Days  (C) 10 days  (D) 7 Days 

 Ans - (A) 5 Days 

 A, B, C vd;w %d;W kdpjh;fs; xU Ntiyia jdpj;jdpNa 10> 15> 30 ehl;fspy; Kbg;ghh;fs;. A-

Ak; B -Ak; %d;W ehl;fSf;F Nrh;e;J Ntiy ghh;j;Jtpl;L A tpyfp tpl C Nrh;e;J nfhs;fpwhh;. 
kPjKs;s Ntiyia B-Ak; C-Ak; vj;jid ehl;fspy; Kbg;gh;? 

 (A) 5 ehl;fs;  (B) 6 ehl;fs;  (C) 10 ehl;fs;  (D) 7 ehl;fs; 

 Ans - (A) 5 ehl;fs; 
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59. A car covers a distance of 90 km at a uniform speed. Had the speed been 15km/hr, more, then it would 

have taken 30 minutes less for the journey. Then actual speed of the car is  

 (A) 45 km/hr  (B) 75 km/hr  (C) 60 km/hr  (D) 90 km/hr 

 Ans - (A) 45 km/hr 

 xU kfpOe;J tz;bahdJ xNu rPuhd Ntfj;jpy; 90 fp.kP. J}uj;ij flf;fpwJ. mjd; Ntfj;jpy; 15 
fp.kP/kzp vd;wsT mjpfhpf;fgl;bUe;jhy; gaz Neuk; 30 epkplq;fs; Fiwe;jpUf;Fk; vdpy; mt;Te;J 
nrd;w rPuhd Ntfk; vJ? 

(A) 45 fp.kP/kzp (B) 75 fp.kP/kzp   (C) 60 fp.kP/kzp   (D) 90 fp.kP/kzp 

 Ans - (A) 45 fp.kP/kzp 

60. Median of first eight non-negative integers is 

 (A) 4  (B) 3.5  (C) 8  (D) 8.5 

 Ans - (B) 3.5 

 Kjy; vl;L Fiwaw;w KO vz;fspd; ,ilepiyasT vJ? 

 (A) 4  (B) 3.5  (C) 8  (D) 8.5 

 Ans - (B) 3.5 

61. Which of the following pair is correct? 

 (A) 6400 km and 6.4 x 10
8
 cm   (B) 2 x 10

4
 cm and 2 x 10

6
 mm 

 (C) 800 m and 80 x 10
2
 mm   (D) 100 um and 1 mm 

 Ans - (A) 6400 km and 6.4 x 10
8
 cm  

 fPo;fz;ltw;Ws; vit rkkhdit? 

 (A) 6400 km kw;Wk; 6.4 x 10
8
 cm   (B) 2 x 10

4
 cm kw;Wk;  2 x 10

6
 mm 

 (C) 800 m kw;Wk; 80 x 10
2
 mm    (D) 100 um kw;Wk; 1 mm 

 Ans - (A) 6400 km kw;Wk; 6.4 x 10
8
 cm 

62. The hottest planet of our solar system 

 (A) Neptune  (B) Venus  (C) Pluto  (D) Uranus 

 Ans - (B) Venus 

 #hpa FLk;gj;jpd; kpf ntg;gkhd Nfhs; 

(A) Neg;bA+d;  (B) Gjd;  (C) GSl;Nlh  (D) ANud]; 

Ans - (B) Gjd;  

63. A Conductor of length 50 cm carrying of 5 A is placed perpendicular to a magnetic field of induction 2 x 

10
-3

 T. Find the force on the conductor. 

 (A) 5 x 10
-3

 N  (B) 3 x 10
3
 N  (C) 4.9 x 10

3
 N  (D) 5 x 10

3
 N 
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 Ans - (A) 5 x 10
-3

 N 

 5 A kpd;Ndhl;lk; ghAk; 50 nr.kP. ePsKs;s flj;jp 2 x10-3
T fhe;j J}z;ly; nfhz;l fhe;j 

Gyj;jpw;F nrq;Fj;jhf itf;fg;gLfpwJ. flj;jpapd; kPJ nray;gLk; tpiriaf; fhz;f. 

 (A) 5 x 10
-3

 N  (B) 3 x 10
3
 N  (C) 4.9 x 10

3
 N  (D) 5 x 10

3
 N 

 Ans - (A) 5 x 10
-3

 N 

64. Which of the following weights the most? 

 (A) One mole of water   (B) One mole of Sodium  

 (C) One molecule of H2SO4 (D) One gram-atom of nitrogen 

 Ans - (B) One mole of Sodium 

 fPo;fhz;gtw;Ws; vJ fdkhdJ? 

(A) xU Nkhy; ePh;   (B) xU Nkhy; Nrhbak; 

(C) xU %yf;$W H2SO4  (D) xU fpuhk; mZ iel;u[d; 

 Ans - (B) xU Nkhy; Nrhbak; 

65. The elements like silicon, tellurium and germanium can be purified by 

 (A) Electrolytic refining   (B) Mond’s process 

 (C) Zone refining   (D) Pattinson’s process 

 Ans - (C) Zone refining 

 rpypfd;> nlYhpak;> n[h;khdpak; Nghd;w jdpkq;fis J}a;ikgLj;j gad;gLk; Kiw 

(A) kpd;dhw; J}a;ikahf;fy;   (B) khz;l; Kiw 

(C) JUtKidj; J}a;ikahf;fy;  (D) ghl;bd;rd; Kiw 

 Ans - (C) JUtKidj; J}a;ikahf;fy; 

66. ------------- is the basic unit of classification. 

 (A) Division   (B) Family 

 (C) Class   (D) Species 

 Ans - (D) Species 

tifg;ghl;baypd; mbg;gil myF --------- MFk;. 

 (A) gphpT  (B) FLk;gk;  (C) tFg;G  (D) rpw;wpdk; 

 Ans - (D) rpw;wpdk; 

67. Who coined the term “Biosystematic?” 

 (A) Bentham and Hooker   (B) Camp and Gily 

 (C) Watson and Crick    (D) Garner and Allard 
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 Ans - (B) Camp and Gily 

 “ghpNrhjid tifg;ghl;bay;” vd;w nrhw;fis Gof;fj;jpw;F nfhz;L te;jth;fs; ahh;? 

 (A) nge;jk; kw;Wk; P̀f;fh;   (B) Nfk;g; kw;Wk; fpy;yp 

 (C) thl;rd; kw;Wk; fphpf;   (D) fhh;dh; kw;Wk; Myhh;L 

 Ans - (B) Nfk;g; kw;Wk; fpy;yp 

68. Bacterial diseases syphilis is caused by 

 (A) Vibrio Cholerae   (B) Treponema pallidium 

 (C) Neisseria gonorrhoea  (D) Yersinia pestis 

 Ans - (B) Treponema allidium 

 rpgpyp]; vd;w ghf;Bhpa Neha; cUthf fhuzkhd fpUkp 

 (A) tpg;hpNah fhyNu    (B) bhpNghdpkh ghyplk; 

 (C) ep];Nrhpah nfhNdhhpah   (D) vh;rpdpah ng];b]; 

 Ans - (B) bhpNghdpkh ghyplk; 

69. Which hormone is called as fight, flight and fright hormone? 

 (A) Epinepherine   (B) Glucagon 

 (C) Thyroxine    (D) Vasopressin 

 Ans - (A) Epinepherine 

 ve;j `hh;Nkhd; Nfhgk;> Xl;lk; kw;Wk; gaKwj;jy; `hh;Nkhd; vd;W miof;fg;gLfpwJ? 

 (A) vgpne/ghpd;   (B) FSf;Nfhfhd; 

 (C) ijuhf;]pd;    (D) thN]hg;gpu];]pd; 

 Ans - (A) vgpne/ghpd; 

70. What is-the theme of the 2017 World Health Day (WHD) ? 

 (A) Move for health   (B) Food safety 

 (C) Depression : Let’s talk  (D) Working together for health 

 Ans - (C) Depression : Let’s talk 

  2017 cyf cly;ey ehspd; fUg;nghUs; (Ma;Tg; nghUs;) vJ? 

(A) cly;eyk; Nehf;fp nry;Yjy;  (B) czT ghJfhg;G 

(C) kd mOj;jk; : Ngryhk;   (D) cly;eyj;jpw;fhf ,ize;J gzpahw;wy;  

 Ans - (C) kd mOj;jk; : Ngryhk;  

71. The 104
th
 Indian Science Congress meet was held in 

 (A) Sri Venkateswara University, Tirupathi  (B) Anna university, Chennai 
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 (C) Osmania University, Hyderabad   (D) Jawaharlal Nehru University, Delhi 

 Ans - (A) Sri Venkateswara University, Tirupathi 

 104tJ ,e;jpa mwptpay; fof $l;lk; eilngw;w ,lk; 

(A) = ntq;fNl];tuh gy;fiyfofk;> jpUg;gjp 

(B) mz;zh gy;fiyfofk;> nrd;id 

(C) x];khdpah gy;fiyfofk;> i`juhghj; 

(D) [t`h;yhy; NeU gy;fiyfofk;> nly;yp 

 Ans - (A) = ntq;fNl];tuh gy;fiyfofk;> jpUg;gjp 

72. Which one of the following is correctly matched? 

 (A) Narayan Murthy  -  Hoover Medal 

 (B) Anand Kumar  - Kyoto prize 

 (C) Aiswarya Rai  - Legion of honour 

 (D) Amartya Sen  - Knight of the order of Arts and letters 

 Ans - (A) Narayan Murthy  -  Hoover Medal 

 fPo;Fwpg;gplg;gLgtw;Ws; vJ rhpahf nghUe;JfpwJ? 

 (A) ehuhaz; %h;j;jp  - P̀th; Nflak; 

 (B) Mde;j; Fkhh;  - fpNahNjh ghpR 

 (C) I];th;ah uha;   - tP[pad; Mg; Mzh; 

 (D) mkh;j;jpah nrd;  - iel; Mg; jp Mh;lh; Mg; Mh;l;]; mz;L nyl;lhh;]; 

 Ans - (A) ehuhaz; %h;j;jp  - P̀th; Nflak; 

73. Who is the Chief Minister of Kerala? 

 (A) Ooman Chandy  (B) A.K. Antony 

 (C) Pinarayi Vijayan  (D) Baby John 

 Ans - (C) Pinarayi Vijayan  

 Nfush Kjyikr;rh; ahh; ?  

(A) ck;kd; rhz;b   (B) v.nf. Md;lzp 

(C) gpduha; tp[ad;   (D) Nggp [hd; 

 Ans - (C) gpduha; tp[ad; 

74. With which field, Dev Patel in associated? 

 (A) Drama  (B) Cinema  (C) Fine Arts  (D) Sports 
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 Ans - (B) Cinema 

 Njt; gl;Nly; ve;j JiwNahL njhlh;Gilath;? 

 (A) ehlfk; (B) jpiug;glk;  (C) ftpd; fiy (D) tpisahl;L 

 Ans - (B) jpiug;glk;  

75. ISRO creates history in space by launching 104 satellites in one go on 

 (A) 15
th
 January 2017   (B) 13

th
 February 2017 

 (C) 10
th
 December 2016   (D) 15

th
 February 2017 

 Ans - (D) 15
th
 February 2017 

104 nraw;if Nfhs;fis xNu Kiwahf tpz;zpy; nrYj;jp ,];Nuh tuyhw;Wr; rhjid gilj;j 
ehs;. 

 (A) 15. [dthp> 2017   (B) 13, gpg;uthp> 2017 

 (C) 10
th
 brk;gh;> 2016   (D) 15, gpg;uthp> 2017 

 Ans - (D) 15, gpg;uthp> 2017 

76.  How many candidates contested in the R.K. nagar By-Election in 2017? 

 (A) 127  (B) 62  (C) 68  (D) 45 

 Ans - (B) 62  

 2017-y; R.K. efh; ,ilj; Njh;jypy; Nghl;bapl;l Ntl;ghsh;fspd; vz;zpf;if 

 (A) 127  (B) 62  (C) 68  (D) 45 

 Ans - (B) 62  

77. Malaysian Air flight crash of 2014 was done by 

 (A) Syria (B) Iran  (C) Ukraine  (D) Pakistan 

 Ans - (C) Ukraine 

 2014-Mk; Mz;L kNyrpa tpkhdj;ij jhf;fp tPo;j;jpaJ. 

(A) rphpah (B) <uhd; (C) cf;iud;  (D) ghfp];jhd; 

Ans - (C) cf;iud; 

78. The software used to navigate through the web is known as  

(A) Website (B) Web Browser (C) Internet (D) World Wide Web 

 Ans - (B) Web Browser 

,izaj;jpy; cytpl cjtpLk; nkd;nghUs; vJ? 

(A) ,izajsk;  (B) ,iza cytp 

(C) ,izak;   (D) cyfshtpa tiy mikg;G 



General Studies            Prepared By winmeen.com 
Tnpsc Group 2 Previous Questions : https://goo.gl/PYqsd7   

 

Install Winmeen Mobile App : https://goo.gl/s3YY9V                                                         Page 21 of 27 

 

Ans - (B) ,iza cytp 

79. ASCI has set up a set of guidelines for celebrities endorsing products in April 2017. ASCI is  

(A) Authorized Standards Council of India 

(B) Advertising Standards Council of India 

(C) Authentic Standards Council of India 

(D) Authentic Standards Court of India. 

Ans - (B) Advertising Standards Council of India 

cw;gj;jpg; nghUl;fSf;F xg;gspj;J tUk; gpuKfh;fSf;fhd topKiw njhFg;G xd;wpid ASCI 

Vg;uy; 2017-,y; epWtpAs;sJ. ASCI vd;gJ 

(A) Authorized Standards Council of India 

(B) Advertising Standards Council of India 

(C) Authentic Standards Council of India 

(D) Authentic Standards Court of India. 

Ans - (B) Advertising Standards Council of India 

80. The technology which transforms soybean oil into graphene films in a single step is named as 

(A) Graphsoy Technology   (B) Graph Air Technology 

(C) Bean Graph Technology   (D) Nut Graph Technology 

Ans - (B) Graph Air Technology 

Nrhah mtiu vz;nzia xw;iwg; gbapy; fpuh/gPd; glyq;fshf cUkhw;wk; nra;Ak; 
njhopw;El;gk; ,t;thW ngahplg;gl;Ls;sJ. 

(A) fpuh/g;Nrhg; njhopw;El;gk;   (B) fpuh/g;Vh; njhopw;El;gk; 

(C) gPd;fpuh/g; njhopw;El;gk;   (D) el;fpuh/g; njhopw;El;gk; 

Ans - (B) fpuh/g;Vh; njhopw;El;gk; 

81. Match the following : 

 Earth Quake   Related to year 

(a) Lomaprieta   1. 1999 

(b) North ridge   2. 1989 

(c) The Turkey   3. 2003 

(d) The Algeria   4. 1994 

(a) (b) (c) (d) 

(A)  2 1 3 4 

(B)  4 3 1 2 
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(C)  3 2 4 1 

(D)  2 4 1 3 

Ans - (D) 2 4 1 3 

nghUj;Jf : 

 Gtpajph;r;rp  njhlh;Gs;s Mz;L 

(a) NyhkhgphPl;lh   1. 1999 

(b) ehh;j;hpl;[;    2. 1989 

(c) JUf;fp    3. 2003 

(d) my;[Phpah    4. 1994 

(a) (b) (c) (d) 

(A)  2 1 3 4 

(B)  4 3 1 2 

(C)  3 2 4 1 

(D)  2 4 1 3 

Ans - (D) 2 4 1 3 

82. Pick out the correct statement 

 (A) India received 75 percent of its water supply from ground water mining 

 (B) Saudi Arabia receives 75 percent of its water supply from ground water mining 

 (C) Iran receives 75 percent of its water supply from ground water mining 

 (D) Sudan receives 75 percent of its water supply from ground water mining 

 Ans - (B) Saudi Arabia receives 75 percent of its water supply from ground water mining 

 rhpahd tpilia fz;Lgpbf;fTk; 

(A) ,e;jpah 75 tpOf;fhL ePiu epyj;jb ePh; %yk; ngWfpd;wJ. 

(B) rT+jp mNugpah 75 tpOf;fhL ePiu epyj;jb ePh; %yk; ngWfpd;wJ 

(C) <uhd; 75 tpOf;fhL ePiu epyj;jb ePh; %yk; ngWfpd;wJ 

(D) #lhd; 75 tpOf;fhL ePiu epyj;jb ePh; %yk; ngWfpd;wJ 

Ans - (B) rT+jp mNugpah 75 tpOf;fhL ePiu epyj;jb ePh; %yk; ngWfpd;wJ 

83. Theory that explains the location of industry 

 (A) Weber’s Theory  (B) Christaller Theory 

 (C) Vonthunan Theory  (D) Malthus Theory 

 Ans - (A) Weber’s Theory  
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 “njhopyf miktpl Nfhl;ghL” 

(A) ntgh; Nfhl;ghL  (B) fpwp];lhyh; Nfhl;ghL 

(C) thd;J}dd; Nfhl;ghL (D) khy;j]; Nfhl;ghL 

 Ans - (A) ntgh; Nfhl;ghL 

84. ‘Aryavarta’ referred to 

 (A) Central India  (B) Srilanka 

 (C) South India   (D) North India 

 Ans - (D) North India 

 Mh;ath;j;jk; vdg;gLtJ 

(A) kj;jpa ,e;jpah   (B) ,yq;if 

(C) njd;dpe;jpah   (D) tl ,e;jpah 

Ans - (D) tl ,e;jpah 

85. The last Mauryan king was 

 (A) Kunala  (B) Dasaratha  (C) Samprati  (D) Brihatratha 

 Ans - (D) Brihatratha 

nkshpa tk;rj;jpd; filrp murd; 

 (A) Fzhsd;  (B) jrujd; (C) rhk;gpujp (D) gpUfj;ujd; 

 Ans - (D) gpUfj;ujd; 

86. Match the leaders and their reform movements : 

 (a) Raja Ram Mohan Roy  1. Theosophical Society 

 (b) Dr. Atmaram Pandurang  2. Arya Samaj 

 (C) Madam H.P. Blavatsky  3. Prarthana Samaj 

 (D) Dayananda Saraswathi  4. Brahmo Samaj 

  (a) (b) (c) (d) 

 (A) 4 2 1 3 

 (B) 3 2 1 4 

 (C)  2 1 4 3 

 (D) 4 3 1 2 

 Ans - (D) 4 3 1 2 

r%f rPh;jpUj;j thjpfisAk; mth;fspd; ,af;fq;fisAk; nghUj;Jf. 

 (a) uh[huhk; Nkhfd;uha;  1. gpuk;kQhd rig 
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 (b) Mj;kuhk; ghz;Luq;   2. Mh;a rkh[k; 

 (c) Nklk; H.P. gpshtl;];fp  3. gpuhj;jdh rkh[k; 

 (d) jahde;j ru];tjp   4. gpuk;k rkh[k;  

  (a) (b) (c) (d) 

 (A) 4 2 1 3 

 (B) 3 2 1 4 

 (C)  2 1 4 3 

 (D) 4 3 1 2 

 Ans - (D) 4 3 1 2 

87. Bimbisara belongs to which dynasty? 

 (A) Haryanka Dynasty   (B) Shisunaga Dynasty 

 (C) Nanda Dynasty   (D) Mourya Dynasty 

 Ans - (A) Haryanka Dynasty 

 gpk;gprhud; ve;j tk;rj;ijr; rhh;e;jth;? 

(A) `h;aq;fh tk;rk;   (B) rpRehf tk;rk; 

(C) ee;j tk;rk;    (D) nkshpa tk;rk; 

 Ans - (A) `h;aq;fh tk;rk;  

88. How many kinds of Democracy are there? 

 (A) 3  (B) 2  (C) 1  (D) 4 

 Ans - (B) 2  

 kf;fshl;rp vj;jid tifg;gLk;? 

 (A) 3  (B) 2  (C) 1  (D) 4 

 Ans - (B) 2  

89. The most popular form of Government in modern days 

 (A) Monarchy  (B) Oligarchy  (C) Democracy  (D) Hierarchy 

 Ans - (C) Democracy  

 jw;fhyj;jpy; kpfTk; gpurpj;jp ngw;w murhq;f Kiw 

(A) kd;duhl;rp   (B) cah; Fbahl;rp 

(C) kf;fshl;rp   (D) rh;thjpfhu Ml;rp 

 Ans - (C) kf;fshl;rp  

90. Election Commission of India is Situated at 
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 (A) New Delhi  (B) Mumbai  (C) Chennai  (D) Moradabad 

 Ans - (A) New Delhi  

 ,e;jpa Njh;jy; Mizak; mike;Js;s ,lk; 

(A) GJ nly;yp  (B) Kk;ig (C) nrd;id  (D) Kuhjhghj; 

 Ans - (A) GJ nly;yp  

91. The father of Local Self Governement is 

 (A) Gandhiji  (B) Lord Ripon  (C) Nehruji  (D) Mountbatten 

 Ans - (B) Lord Ripon  

 cs;shl;rp murhq;fj;jpd; je;ij vd;W miof;fg;gLth;? 

(A) fhe;jp[p    (B) hpg;gd; gpuG 

(C) NeU[p    (D) kTz;l;Ngl;ld; 

Ans - (B) hpg;gd; gpuG 

92. Money bills can be delayed by the Rajya Sabha only for  

 (A) 30 Days  (B) 20 Days  (C) 14 Days   (D) 7 Days 

 Ans - (C) 14 Days 

 epjp kNrhjhf;fs; khepy mitapdhy; vj;jid ehl;fs; kl;Lk; jhkjg;gLj;jyhk;? 

 (A) 30 ehl;fs;  (B) 20 ehl;fs;  (C) 14 ehl;fs;   (D) 7 ehl;fs; 

 Ans - (C) 14 ehl;fs; 

93. 44
th
 Amendment Act came into force in the year 

 (A) 1976  (B) 1947  (C) 1950  (D) 1978 

 Ans - (D) 1978 

 44tJ rl;lj;jpUj;jk; eilKiwf;F te;j Mz;L 

 (A) 1976  (B) 1947  (C) 1950  (D) 1978 

 Ans - (D) 1978 

94. The First census of India was taken in the year 

 (A) 1870 (B) 1872 (C) 1874 (D) 1881 

 Ans - (B) 1872 

 ,e;jpahtpy; Kjd;Kjypy; kf;fs; njhif fzf;nfLg;G ele;j Mz;L 

 (A) 1870 (B) 1872 (C) 1874 (D) 1881 

 Ans - (B) 1872 

95. In the procession against the Simon Commission he received fatal injury and died later 
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 (A) Bal Gangadhar Tilark  (B) Lala Lajpat Raj 

 (C) Tiruppur Kumaran   (D) Gokhale 

 Ans - (B) Lala Lajpat Raj 

 irkd; FOtpw;F vjpuhd Nghuhl;lj;jpy; fye;J nfhz;L fhakile;J gpd;dh; caph; ePj;jth; 

 (A) ghy fq;fhju jpyfh;  (B) yhyh y[;gjp uha; 

 (C) jpUg;G+h; Fkud;   (D) NfhfNy 

 Ans - (B) yhyh y[;gjp uha; 

96. In 1928 a committee consisting of eight, was  constituted to draw up a blue print for the future constitution 

of India. It was headed by 

 (A) C.R. Doss   (B) Lal Bahadur Shastri 

 (C) Mothilal Nehru  (D) Mohammad Ali Jinnah 

 Ans - (C) Mothilal Nehru  

1928-y; vjph;fhy ,e;jpahtpd; murpayikg;G rl;lk; xd;iw tiutjw;F vl;L Ngh; nfhz;l FO 
Vw;gLj;jg;gl;lJ. ,jd; jiyth; 

(A) C.R. jh];   (B) yhy; gfJ}h; rh];jph 

(C) Nkhjpyhy; NeU  (D) KfkJ myp [pd;dh 

 Ans - (C) Nkhjpyhy; NeU 

97. Which of the following statement is not correct? 

 (A) Lord Mount Batten was made the first Governor General of Independent India 

 (B) Mohammad Ali Jinnah Became the first Governor General of Pakistan 

 (C) On 15
th
 Aug 1947 India became an independent state 

 (D) On 16
th
 Aug 1947 Pakistan became an independent state 

 Ans - C On 16
th
 Aug 1947 Pakistan became an independent state 

 fPo;f;fz;l $w;WfSs; jtwhdJ vJ? 

(A) Rje;jpu ,e;jpahtpd; Kjy; jiyik MSeh; nksz;l; Ngl;ld; 

(B) ghfp];jhdpd; Kjy; jiyik MSeh; KfkJ myp [pd;dh 

(C) 1947 Mf];l; 15-Mk; ehs; ,e;jpah Rje;jpuk; mile;jJ. 

(D) 1947 Mf];l; 16-Mk; ehs; ghfp];jhd; Rje;jpuk; mile;jJ. 

Ans - (D) 1947 Mf];l; 16-Mk; ehs; ghfp];jhd; Rje;jpuk; mile;jJ. 

98. In which years was the import of food grains in India is Nil? 

 (A) 1989 and 1990   (B) 1993 and 1994 
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 (C) 1995 and 1996   (D) 1997 and 1998 

 Ans - (C) 1995 and 1996 

 ,e;jpahtpd; czT jhdpaq;fspd; ,wf;Fkjp G+[;[pakhf ,Ue;j Mz;L vJ? 

 (A) 1989 kw;Wk; 1990   (B) 1993 kw;Wk; 1994 

 (C) 1995 kw;Wk; 1996   (D) 1997 kw;Wk; 1998 

 Ans - (C) 1995 kw;Wk; 1996  

99. In which Agricultural crop production does India stand first in the world? 

 (A) Rice (B) Groundnuts  (C) Tobacco  (D) Sugar 

 Ans - (B) Groundnuts  

 ve;j Ntshz;ikg; gaph; cw;gj;jpapy; ,e;jpah cyfpd; Kjy; ,lj;jpy; epw;fpwJ? 

(A) mhprp (B) Nth;fliy  (C) Gifapiy  (D) rh;f;fiu 

Ans - (B) Nth;fliy  

100. How much does India contribute to the world sugar production? 

 (A) 15 %  (B) 20%  (C) 25%  (D) 30% 

 Ans - (A) 15 %  

 cyf rh;f;fiu cw;gj;jpapy; ,e;jpahtpd; gq;F vj;jid rjtPjk;? 

 (A) 15 %  (B) 20%  (C) 25%  (D) 30% 

 Ans - (A) 15 %  


